
SAP ABAP table T6B5 {User Parameters Subsequent Settlement}

T6B5

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

KVEWE [CHAR (1)]

USERG_TOOL [CHAR (2)]

BOART [CHAR (4)]

UMTOL [CHAR (4)]

T000

MANDT [CLNT (3)]
 T6B5-MANDT = T000-MANDT 

0..N

1

T681A

KAPPL [CHAR (2)] T6B5-KAPPL = T681A-KAPPL 0..N

1
T6B1

MANDT [CLNT (3)]

BOART [CHAR (4)]

 T6B5-BOART = T6B1-BOART 
0..N0..N

T6B4

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

UMTOL [CHAR (4)]

 T6B5-UMTOL = T6B4-UMTOL 

0..N

1

TMUSERG

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

KVEWE [CHAR (1)]

USERG_TOOL [CHAR (2)]

 T6B5-USERG_TOOL = TMUSERG-USERG_TOOL 

0..N

0..N


